





.......... QUESTION

X=>
s REPONSE --
1 1
------------ = 20
[x]v49  [x]v7
1 1
---------------- = 20

497(1/x)  7°(1/x)

(72(1/x))"2  77(1/x)

soit 77(1/x) = k
1/k? - 1/k = 20
k/k3® - k2/k® = 20
(k - k2)/k?® = 20
20-k3 = k - k2

20-k® + k2 - k = ©

_____ K =0 -----
k =0

7°(1/x) = k = @
77(1/x) = ©

1/x = ©

division par zéro => pas de solution pour 1/x
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----- (20k2 + k - 1)

1l
(]

20k? + k - 1

A =12 - 4-20-(-1) = 1 + 80 = 81

VA = V81 = 49 et V81 = -9

e cas VA = +9: k = (-1 + 9)/2-20 = 8/40 = 1/5

e cas VA = -9: k = (-1 - 9)/2-20 = -10/40 = -1/4
————— k =1/5 -----

k = 1/5

7°(1/x) = k = 1/5

AL = TE

log(77(1/x)) = log(1/5)

(1/x)-1og(7)

log(1/5)
note: log(1/5) = log(1l) - log(5) = @ - log(5) = -log(5)

1/x = -log(5)/1log(7)

x = 1/(-1log(5)/1log(7))

x = log(7)/-1og(5)

|  x = log(7)/-1log(5) = -1,209062 |
----- [RREl) g

k = -1/4

77(1/x) = k = -1/4

77(1/x) = -1/4

logarithme d'un terme négatif => pas de solution pour 77(1/x) = -1/4

(fin)



